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CBT Practice test model answers

Budgeting (BGT)

Practice assessment 4


Section 1
Task 1.1
[image: image2.png](a) Match each type of data in the first column with the appropriate source in the second column.

Click on a box in the left column then on one in the right column.
You can remove aline by clicking onit.

Sales ledger

ational taxation authorty

(eg Her Majesty’s Revenue
Own production efficiency and Customs)
Energy supplier price Purchase invoices
‘comparison
Customers' trading history Interet web sites

Costing system





Task 1.1, continued

[image: image3.png]{b) Who is the appropriate person to contact for each of the following tasks?

Click on a box in the left column then on one in the right column.
You can remove aline by clicking onit.

To prepare a raw material
budget

Production manager and
purchasing manager

To investigate a material
usage variance

Purchasing manager

Production manager and
human resources manager

[To investigate a material price
variance

Human resources manager

Production manager





Task 1.1, continued

[image: image4.png](c) Drag each item of cost below to its appropriate budget.

Caital expenditure Warketing
Car purchasedfor the sales team [New product market research
[Factory extension
Distribution Costof Production
Deiiveries to customers Material wastage
[Recruitment of production labour

Finance & administration
[Managing director's salary
Office rent





Task 1.1, continued

[image: image5.png](d) Select an appropriate accounting treatment for each of the following costs.

Cost

Maintenance of proguction machinery
Delivery charges for raw materials
Qualty control department
Lubricants for production equipment
Creditreference agency fees
‘Supenision of irect labour

Repairs to office fumiture

Production machinery modification

Accounting treatment

[Erarge o producion 2 madhine hour ovemead rae

et

[Actiity based charge to products

[Eraree o producion 2 machine hour ovemeadrae

[ocste o samnstae wpenses

[Erarge o producion 2 abourhour vemead ate

[ocste o samnstae wpenses

[Captaes & aeprecats ovr usem e





Task 1.2

[image: image6.png](a) Complete the following production forecast for product P.

Week1 ~Week2 Week3 Weekd  WeekS
(opening inventory 1000 1s00 | te00| 1400
Producton 12000 | se00 | 700 | g0
Sub-total 13800 | 1000 | o400 | 200
sales 12000 o000  sooo| 7000  6.000)
(osing inventory 100 | 1600 | 1400 | 1200





[image: image7.png](b) How many items of product L must be manufactured each month to allow for waste?

[Required units 156,000 164000  168,000)

[Manufactured units | 195000 | 205000 | 210000





Task 1.2, continued

[image: image8.png](c) How much material must be purchased?

731

375,200

8911

399,800





[image: image9.png](d) How many overtime hours must be worked to complete the production?

1200

1740

165






Task 1.2, continued

[image: image10.png]Department X manufactures three products, A B and C.

(e) Calculate the machine hours needed to manufacture these in November.

urs

unit
I 1,100) 40| 4400
B 850) 30| 2550
lc 750) 50| ars0
[Total

10700

There are 14 machines in the department.
‘Addiional machines can be hired if required.
Each machine can be used for 500 hours in November.

() How many additional machines should be hired?

B





Task 1.3

[image: image11.png](a) Complete these three working schedules.

Materials.
Each unit produced requires 10kg of material.
Closing inventory will be valued at the budgeted
purchase price.

Labour
Ittakes 16 minutes to make each item.

30 staff work 160 basic hours each.

Overtime is paid at 25% above the basic hourly rate.

Overhead
Variable overhead s recovered on total labour hours.

Materia Ko
|ovening inventory 5400 9500
lPurchases 280,000 560,000
[sub-tota 285,400 569,500
|Used n proguction 250000 08700
[closing inventory 35400 70800

[Basic time @ £16 per hour 4800 76800)
[overtime 1450 29000)
[Total 6250 105800

|variable @ £2 per hour 6250 12500
[Fixed 23,000)
[Total 35500)





Task 1.3, continued

[image: image12.png](b) Now complete the operating budget.

Enter income, costs and inventories as positive
figures.

Closing finished goods inventory wil be valued at
the budgeted production cost per unit.

Use anegative figure to indicate a gross loss, for
example -500 or (500).

Use anegative figure to indicate an operating
loss, for example -500 or (500).

Operating budget £ perunit
[sales revenue 25500 40) 1020000
[Costof goods sala: B
[opening inventor ofinished goods

[Costofprocuction B

[Waterials 498700

|Cabour 105800

[overnead 35500

[Glosing iventory of finished gaods 51200
[Cost of goods sold 676200)
[Gross proft

loverneads B

[Aaministraion 15,500

[Warketing 14,600

[operating proft

313600)





Task 1.4

[image: image13.png]() This year sales revenue is £650,000. Analysis of recent years shows a growth trend of 10% per year.

‘The seasonal variation has been:
quarter 1 +£9,000

quarter2 -£2,000
quarter 3 -£4,000
quarter 4 -£3,000

Forecast the sales revenue for each quarter of next year.

3 176750
° 74750
‘ 175750
Year 715000





Task 1.4, continued

[image: image14.png](b) Calculate sales revenue and cost budgets for April from the following data.

|units sold 143000 12,500)

|units produced 144,000|

]

Each unitis made from 1.25 kg of material costing £1.60 per kg

Ittakes 10 minutes to make each item.

1,800 hours of basic time is available in the month. Any extra hours must be worked in overtime
The basic rate is £12 per hour. Overtime is paid at 26% above basic rate.

Variable overhead relates to labour hours, including overtime.

Fixed overhead costs are incurred evenly through the year.

|sales revenue 786,500 68750
[Material used 288,000|[__25200
[pirect labour 205,200|[__26100
|Variable production overhead 33,600|[_2040
[Fixed overhead 26,400|[_2200





Task 1.4, continued 
[image: image15.png](c) Prepare a Cash forecast for June from the following budget data.

Invoiced sales revenue 10250| 10,000 10.750] 11,000
lPurchases 300|280 2770 2:805|
[Wages 3450| 3440| 3670 3720
loter overheads 2300 2020| 2040| 2400
[Capial expeniture 00| oo 700 500

Average terms

Customers take 3 months to pay.

Purchases are paidfor after 2 months

Wages are paidin the current month

Other overheads are paid for after 1 month

‘Capital expenditure is paid in the current month.




[image: image16.png]|opening cash balance 200|
|customer receipts 10250
[Payments

[Purchases 2980
[Wages 3720
|overheads 2040
|Capital expenditure 500
[Total 9240
|closing cash balance 210

Notes

Anegaive figure = an overdraft

Enter payments as positive figures.

an overdraft




Task 1.5

[image: image17.png](a) Budget submission

[ attach the proposed sales team abour budgetfor next year for your consideration and approval

[The manager of human resources has forecast a 5% increase in basic pay rates to £26,250 per employee. There is no change in staff numbers. The

[commission paid per unit of sales is unchanged from this year at £0.04 per unit. You will see that the commission is calculated on budgeted sales units
of Original andLite

[Please let me knowif you need any furtner information

(6) Proguctfecycle

[There are fve recognized stages in the lifecycle of a typical successiul proguct development, launch, growth, maturty and decline. Our Original product
[has passedthrough the mature stage and we recognize that tis in decline. However, Lie stil appears to be in the growth stage. The continued deciine of
Original and growth of Lite have been aniicipated in the sales forecast and builtinto the sales labour cost budgst.

Budget Accountant





Section 2
Task 2.1

[image: image18.png]{a) You are asked to prepare a revised operating budget in the Revision column below and calculate the
increase or decrease in profit that would result.

You should assume that the selling price will be reduced by 5% and sales volume will increase by 7.5%
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[image: image19.png](b) Calculate the pension cost forecast

£

199500





[image: image20.png](c) Calculate the material cost forecast

£

[282000






Task 2.2

[image: image21.png]portrorguy | Flexed  Actual
[Bales revenue (72,000 units) | 2880000 | 3024,000| 144000
|costs

[Material 504000 | 518400|  -14400
|Labour sago00 | 652500 -as00
|Distribution 7200 8000  -800
|Eneray 169000 | 173000|  -4000
|Equipment hire 32000 | 310000 1000
IDepreciation 185000 | 180000| 5000
[Marketing 250000 | 2550000 -s000
|Administration 190000 | 194000|  -4000
[Total 1985200 | 2011900| 26700
|operating profit 804800 | 1012100 117300





Task 2.3

[image: image22.png]Answer
o: “The Chief Executive: From:  Budget Accountant
Subject  Review of Operating Statement Date: oo

() Reasons forvariances

[Inave reviewed the resuts for the period. There was an operating loss of £27,000 compared with the flexed budget profit of £38,000. The original budget
anticipated a profit of £122,000 based on sales of 950,000.

[Sates volume was expected to grow by 10% from the previous year (864,000). In facttfell by 11%. This has been attributed to competiive price cuting. Our
response was to offer volume discounts equivalentto an 11% average price reduction.

[The 1abour cost variance was £31,000 adverse. The flexed budget assumption is that labour costs are variable and will fal f volume drops. In fact there
was idle time.

[Similariy, equipment hire is budgsted as a variable butit appears that hired equipment has not been fully utiised and the company has paid for equipment
that has stood idle. The adverse variance is £13,000.

The flexed budget shows that a profitof £88,000 is expected at this lower volume. This s despite the factthat some costs are fired, regardess of
production volume. Butthere were adverse costvariances of £38,000 and the sales discounts cost£77,000.

() Change in business prospects

it would appear that we failed o coordinate our response to the changing commercial situation. When circumstances change significantly s necessary to
g0 back to the drawing board” and review al aspects of the budget. Furthermore, revenues and costs need to be closely monitored in case further action is
needed.

The management needed o respond as a team. For instance they needed to consider their response to the price cuts and how they would cope with a
squeeze on margins. Production resources needed to be adjusted to the changing demand.

[The budget should be revised to show the effect of the changed plans.





